Modular directional control valves DNC160

DNC160 - Modular directional control valves

Before use, carefully read the GENERAL INSTRUCTIONS FOR USE OF DIRECTIONAL
CONTROL VALVES

BONDIOLI 398SDCO05ENOO - 27-08-2019 1
& PAVESI E‘]



DNC160 Technical data

160 I/min

Nominal flow 42.27 US gpm
. 300 bar
Nominal pressure 4350 psi
~ B2A2 .Ti
: 50 bar T T |
Maximum tank pressure 725 psi L i
Internal leakage . ]
15 cm3/min
(AoB->PandT) Py
p=100 bar (1450 psi) 0.91 in/min o
-20°C +85°C NBR seals
Temperature range (max peak +100°C) ‘ ‘
-20°C + 130°C HNBR seals H e ‘ T
[ 7
from 15 mm2/s to 90 7
QOil viscosity mm?2/s ‘
(15 cSt to 90 cSt) 3 l ‘
Hydraulic fluids as
Fluid defined in ISO 6743-4 ‘
standard l \
———+— |
STANDARD version
Sectional
=%l
- D)
qQ | p ;
€
| gl |
LV ELE
P — _4/ B iIZ_
I 1
1 , Al T
2! S
&_:/ ol / o
At
/g b J/\: b

2 398SDCO05ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



Dimensions DNC160

220(8.66] 141[5.55]
38.5[1.52] L 38.5[1.52] 5 63[2.48] 78[3.07]
B1i B2 =2 iy
= (== o L
T T = T
pu | | 3 |
e () B Poae)
? &
I . L &
P ' =~ T ‘o - Y oy
\ - © - 8
}{©)i(© g g
l : =
0]
(qV]
T T ‘— (a\] 3
= = Z
== (40) o) t R 1
L—J11[o.43] = Y
ol Te)
== o
PIE 3 g =
s6[1.81] \A1 \ A2
Dimensions per number of sections
Code N° of sections L Weight
mm in kg Ib
E 1 97 3.82 14.7 32.4
@ 2 143 5.63 21 46.3
E 3 189 7.44 27.3 60.2
E 4 235 9.25 33.6 74.1
E 5 281 11.06 40 88.2
@ 6 327 12.87 46.2 101.8
7 373 14.7 52.7 115.9
8 419 16.5 59.1 130
BONDIOLI I_:.] 398SDCO05ENOO - 27-08-2019 3
& PAVESI



Characteristic curves

DNC160

Pressure drops P-T

[1/min]

ZoMRIeY 19)

Testing parameters: Spool type

10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170

398SDCO05ENQO - 27-08-2019

B R 22 13 13333
o0 o 9 9
22 2 £ 2 e ek G2Z 28
Q0 O O O 09 QY g2 89
86 & & 8 IS 55 55 == 86458354
T T T[T T ™ T T T T T N~ — [ Y ! ! | | | | ! [ ] R N -// ! !
| | | | | N\ | | | L — g JENTED e . N NGy ) I D W m - \v\\/L [\ \UEY T I
T wﬂ..? AT T TN w,\w,wwom . ;2//7/W | | | I ! ! ! 0/ . RS .W/ . l
” ” ” T ” ” ” ” \ ” ” © I | Yt | | | | | | | le". | ,/ |
| | | BEIAY | | | = L\\L\Jr/;/\\pwwr JEUJY N T A B e e e e
B T S . O S AR LSl S I RS B R RANE R =) I I S I I
NN / NN T o e NN P iy I I kY \
(T T R D L LT B ' A VA e B R r/ T | | N N |
| | i | v | | | | | Y R P N I 1 N N ) N Ay B PR DR S ¢4D\V\ ST
| | / /\,\\\ \,\\\\O | | | s /7/, | | | | | o | | I\ ,//,
; ; ; \ ; < I I I Y I | | | | H I I I ONs |
| | | | — Y T R YN V. VS B A oy i RN\, A W A R B
| | | | | | Iy ,/ | | | | | o | | | ;r//
i i o P S B A WA N, W I 1™ I I AN
| , 2 O Y I i R J | | A\
” O \,\\,\\, \,\\,\\&A \,\\,\ ,\\,\0 \,\\\\,\\\\,\\\\, —,/ [~
7 R A L) P O PN I I I P
| 8 8 I B O XN VO I I -1 Sl TN
! o = i RN S = ; ; ; ARV
” “H — | | | | | | (A 2 | | | H — | | | | ._ '\
, 9 ST T T RN T T T o E EREEEEEEE\Y
] o o P O A I A I A ) ) , ) ) ,
i o o i i i i i i HRAN i i w o i i i i i —4.——,
] ” 2 T TN T e 2 L,llﬁllf‘l,r‘l,r"r:ﬂ \
i % (2] R .——r [ ] Oy (2] | | | | | 8
0 = S TN N I ' \ W = B |
| e I I I I I I I I L3 /, I e I I I I I ,//
i o + P O I A A A ] + I I I I I I
. o (0] R EEEREEA YRS (0] | | | | | .
0 m S ST I VN S L\\F\L\‘_// o m RIS P Y N N N A
, I p e I e S I ; ; ; ; ;
. _ﬁ/v o T T T T T | S = | | | | |
] (v S ! A T B L\\k\\r‘k/ L © D ) Y O Sy H
| p I I I I I I I I I :-—, 0 p I I I I I
i o N N N 0 A S S S S S\ W I I I I I
O
| 8 o IS RN AR B ARk Y o
! = A L L o e L o lle i BVl = ” ” ” ” ”
” 2 17} AEEREEE L VG 17} ] T T
! © I R R © it bt el i il
! o = N I S A o = s s , , ,
| 4 I I I I I I I I I I 4 I I I I I
, S ol i [ il B O i , B i i B
m S PR T TS - R A
| O E i O F fprpieg
o lo E ] N O I B P B = lo E , T
~ o~ | | | | | | | N o — | | |
N o~ N A T Y O BT L T o VI T Y ) A H A
o RN o I | |
° T2 TR r2 e T
A o o
| |22 |22
e Ll I I I I I I I 1o -—m L L L L
= -“2 O 0 W N O O < N O asT o o O < N O
=N AN = o o i — —

=>T

=>T

0|o
0|0
AV

O|O
O|O

O|o
O|O

B1V

P>

Pressure drops P-A
P>
Pressure drops B1-T




Characteristic curves DNC160

Metering

I/min
180

| Tou=50C 1l L SR I I B R [ R
150 | Vo = 21 mm?/s : ‘ ‘ ‘ : P - ks Sl

50 bar
=— — = 100 bar

120 |- — - - 150 bar ! j ! ! /: ;7
e [ [ Y A [ L A P A
| | | | | / '/ | : :

%0 : : : : ¥ 77

80— 1 1 1 AR, ‘ ‘

IR Sl Sl Rl s Ry AR / ******** A e el Rt Rt R R
30— 1 1 1 — 1 1 1
L R T IR e i I G S R R R L

0 1 2 3 4 5 6 7 8 9

mm
Testing parameters: Spool type
BONDIOLI I_:.] 398SDCO05ENOQO - 27-08-2019
& PAVESI



DNC160 General options
E Power unit

229.5[9.04] 141[5.55]
38.5[1.52] ‘ L 48[1.89 103 [4.06] 38[1.5]
3 B1i B2
S, V1 ——
< B
: o) @ V-l o
f () fo==t
Y
I 1T 1T o
D V2 | N
— P1 @ @ EI ® fan) —
— & \' 7 B
(o)) 8 3
g & E
i P P ‘ ) ®
) Q) Q
5 @ @ d T1 o I=\ g \
(aV] s §
T T - g E
&'
©
% © S s
3 \A1 \ A2
P1 Y B1 A1 B2 A2 T
- 77} Dz T T - I T T [ I T
| | | | |
I T7 25 bar! I I I
|
| - 1 |
=< =<
| | v | v | |
‘ ! ::t - ! j,:t - | I
| | (1] | [ | |
P 8] | I =) > T i =) b Y\ A
LA I | B S | 10 bar
: : = H N : =H><}H N : |
a7 i
| L— W | x | % | I
| | | | |
| | | | |
| | | | |
| _ _ | _ _ _ | _ _ _ | 1
6 398SDCO05ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



Inlet type DNC160

| S | Left (standard) ' D] Right
% g Lz\ g rﬂ‘
) _ In JJ _ ||| 0
N = N
(L I'EF -
P T = P
© "
AL
] -f\--f &
7 @88 Ol NN
A1 A2

Port A is usually the nearest port to the actuator side.

BONDIOLI 398SDCO05ENOO - 27-08-2019 7
& PAVESI I':.]



Thread ports

Thread ports P - P1

Code

Type

Torque + 10%

Thread ports A - B

Code

Type

Torque = 10%

Thread ports T - T1

Code

Type

Torque + 10%

Thread port Y*

Code

Type

Nm Nm
@ Not processed E 3/4" GAS ISO 1179 150
E 3/4" GAS 1SO 1179 150 E M27x2 1SO 9974 150
@ 17 GAS ISO1179 200 @ M27x2 ISO 6149 150
E M27x2 ISO 9974 150 1" 1/16 - 12 SAE ISO 11926 150
E M33x2 ISO 9974 200
@ M33x2 ISO 6149 200
@ M27x2 1SO 6149 150
@ 1" 5/16 - 12 SAE ISO 11926 200
1" 1/16 - 12 SAE ISO 11926 150

Torque = 10%

Nm Nm
@ Not processed 1/4" GAS ISO 1179 27
E 3/4" GAS 1SO 1179 150 E M14x1.5 1SO 9974 27
@ 1” GAS 1SO1179 200 E M14x1.5 ISO 6149 27
E M27x2 ISO 9974 150 E 9/16" - 18 SAE ISO 11926 27
@ M33x2 ISO 9974 200 *Only if power unit is present.
@ M33x2 ISO 6149 200
@ M27x2 ISO 6149 150
@ 1” 5/16 - 12 SAE ISO 11926 200
1" 1/16 - 12 SAE ISO 11926 150

398SDCO05ENQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Options on ports DNC160

Indication of the ports

B1i B2
‘\.. —— P1 B1 A1 B2 A2 T1
l l T T 1
S :ls%s | 0 —— 1
SIS | | I
X6 @ | TE ||
@ P: \Tiu- 1?%:;
P1 @@ o o
= lS: il T | T
] 1
@)@ [ T C— Y S
A1 \A2
BONDIOLI 398SDCO05ENOO - 27-08-2019
& PAVESI I':.]



DNC160 Gauge ports

MP and MT - Gauge ports

B A
| P mlunuvégé
= ‘ 2
P T (OF=L(O)| 1wasto1
N\ @ © ] ® ‘ p S
[l (@ SIS () ()] S EE
& @ On® &) § | u! : c'” i Gf : i

Thread Ports MP and MT

Torque + 10%

Code Type Nm
|I| None

1/4" GAS 1SO 1179 27
@ M14x1.5 ISO 9974 27
E M14x1.5 ISO 6149 27
E 9/16" - 18 SAE ISO 11926 27

10 398SDCO05ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



Actuators DNC160

Standard kit for lever holder E Without lever holder, standard appendix

< B
g S
" g
)
@ Joystick
134[5.28] 121.6[4.79] 98.4(3.87]
\
90(3.54
P1 S T
1\
g =
&,
© |
w g 8 T
T . - 2 =S
o 8 5% P \
< & S
o < e —
" 3 T ]
a = Spool 1st section b = Spool 2nd section
Joystick functions Cable setting
I (a) (a)[ s | AB-T
= ~ 1 4 | BP>
-~ /\ | |
- L]
‘a4 1 PB1
N_/ | I A1-T
| 4 |
= - ~
— |- _— el
e B O+ | & 3 B
- |- _— s
Poa1!l VY I
B1HTL ,2,J‘ /\/f/\ 92.6[3.65]
Also available in other configurations.
BONDIOLI I_:.] 398SDCO05ENOQO - 27-08-2019 11
& PAVESI



DNC160 Actuators

E Pneumatic control

bar
X Y 4.0 i
| | RN it Sty ity s e
T 41 4|0 2 3.5 ‘
30— | | | - '/;
108.7[4.28] T o IV e e
B 25— B :
\ /,;;/a ,,,,,,,, T
S 40[1.57 20 = 3 | | | ‘
- X Y MADE IN ITALY | b A A B e e
i N % '%" 15— | | | | |
5 [ : LG FG S | L N . N ]
g IWVEYEN A : : : :
3 \ \ 10— | | | | |
° ] TEO. ] BN B N |
> 0.5
1/8" GAS 1/8" GAS I o . o .
qj 0.0 1 1 1 1 1 1
0.0 1.5 3.0 4.5 6.0 7.5 9.0
a = Large chamber b = Small chamber (e

a = Large chamber b = Small chamber

The pneumatic actuator is positioned on the side where the spool control is normally placed and is the main
actuator. The distributor will also be supplied as standard, with the lever holder on the opposite side.

12 398SDCO05ENOO - 27-08-2019 BONDIOLI I_g
& PAVESI



DNC160

Actuators

|K| Hydraulic control

7.5 9.0

6.0

4.5

3.0

ol
15‘

8 o o) o o°
o N N — —
‘o'
&
©
©
L\El
2 1
<t
‘o v
©| ~
) O T
o| ™
o
- 4—”2
YE
—
<
N
&
N~
Te)

[eL¥]2 02k

mm

13

398SDCO05ENOQO - 27-08-2019

ZopRieL 19)



Electro-hydraulic control options

E Spool stroke limiting port A and B

s
Int

0o——=1 % P 2<+—0
Y
— MADE IN ITALY i “\ %
N
ﬁ_ fo) P ‘ & 1WA8701 /
g b 2
=, - ) p— 9 g i _
s — e s :
- 2 G O
o
3
— /T TN\
22.5(0.89] 55[2.17] 170[6.69] [2.17] 25[0.98]
327.5[12.89]
14 398SDCO05ENOQO - 27-08-2019 BONDIOLI

& PAVESI

o)



Spool types DNC160

Spool type Positions
1 o 2 3 1 0 2 4
B A
TTTIEL] L P—-B P, T PoSA
X A-T | AB— BT
e T BP —| BP—- | BP—
Spool type Positions
1 o 2 3 1 0 2 4
B A
T L/ T P—-B AB->T | P-oA
B! >< A>T | P  B-T
D BP — BP — BP —]
Spool type Positions
3 1 0 2 4

B T IT LT AB—-T| P—-B P, T PA
B >T< P — A—-T AB— | BT

N BP — BP — BP — BP —
BONDIOLI 398SDCO05ENOO - 27-08-2019 15
& PAVESI I':.]



DNC160 Spool control

1 o 2 1 o 2 1 o 2
A ]
Neutal polta Noutelpostien 0
NS|
1 (] 2 o 2 3 1 o 2
A ] 1 AW
Detentin 0, 1, 2 Detent in 2 Neutral position in 0, detent in 3
16 398SDCO05ENQO - 27-08-2019 BONDIOLI I_g
& PAVESI



Valve type port A-B

Pressure limiter and anticavitation valve

B A
é % | 1 §§ E |
= 8
u 5 8| <
ol
T ([ weeror \ 5 -
LC-B2 é I i | = LC-A2
 —— — — |
N
S| =«
=] &
31[1.22] 170[6.69] 31[1.22] Q9
232[9.13] 220[8.66]
The option includes special cast iron
P1 B1 A1 B2 A2 -~ T1
\ - - - - S e M
: Lc-B2 f i LC-A2, l
! | ] | \_.@_(w > | !
I | L I L | I
| | - | — | |
L TE [E|
- -
| | = | = | |
I I @ I @ I I
P o T o[ T T
e N A — = F4‘>
! ! <~ ‘ <~ ‘ !
| | | | |
iij\ W @ E’ —D:éé 5’
| | | | |
| | | | |
| | | | |
| | | | |
\ __ L _ 1 _ ]
BONDIOLI 398SDCO05ENQO - 27-08-2019

o)

& PAVESI



Lever options

Straight standard knob

Code Description h [mm] h[in]
E Straigtll’f’] gtgndard 109 4.3
S‘[raigrll’ltn (s)tgndard 134 5.08
Straigrlltn gtgndard 184 7.94
@ Straig% gtgndard 214 8.42
E Straigrlltn (s)tgndard 254 10
E Straig?(’fq gtgndard 304 11.97

Ergonomic lever

Code Description h [mm] h [in]
Straight vertical 180 7.09
@ Bent 15° vertical 180 7.09
@ Bent 30° vertical 180 7.09
@ Straight horizontal 180 7.09
Bent 15° horizontal 180 7.09
@ Bent 30° horizontal 180 7.09

18

398SDCO05ENQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Lever holder position DNC160
| A | Straight Rotated 180°

220(8.66]
87(3.43] 46[1.81] 87[3.43]
5 8 P ORRC O JRC DA
= = (i || ]
<t
— ® (OINS &) -
=
9, 8
rs} S,
5 o 87[3.43] ‘46[1.811 87[3.43]
220[8.66]
BONDIOLI I_:.] 398SDCO05ENOQO - 27-08-2019 19
& PAVESI



DNC160 C.O. - Carry Over

Carry-over port T

P1 T1

All DNC160 directional control valves have the C.O.
option - Carry over. For functional reasons, the
version with power unit is an exception.

P1 B1 A1 B2 A2 THi
I 7‘T77447 "TifT

| L \/\ \,\ [

H o= 0 v =
| | L Fw | L FIll | |
P! | v ) | © =) | n C.0
=T o A— = o E—
> >
2<gq N 2<q N

. —r ]
20 398SDCO05ENOQO - 27-08-2019 BONDIOLI I_g
& PAVESI



C.O. - Carry Over DNC160

BONDIOLI |_:.] 398SDCO05ENOO - 27-08-2019 21
& PAVESI



Instructions for ordering

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
1 Number of sections
1 1 section 3 3 sections 5 5 sections 7 7 sections
2 2 sections 4 4 sections 6 6 sections 8 8sections
2 General options
N None Z Zinc plating B Power unit and black paint
V Black paint A Power unit E Power unit and zinc plating
3 Inlet type
S Left (standard) D Right
4 Thread Port P
F 3/4" GASISO 1179 5 M27x21S0 9974 U M27x21S0 6149 V 171/16- 12 SAE ISO 11926
G 17GASISO1179 6 MB33x2 IS0 9974 Z M33x21S0 6149 S 175/16-12 SAEISO 11926
5 Thread Port P1
0 Not processed 5 M27x2 SO 9974 Z M33x21S0 6149
F 3/4" GASISO 1179 6 MB33x2 IS0 9974 V 171/16 - 12 SAE ISO 11926
G 1”GASISO1179 U M27x21S0O 6149 S 175/16-12 SAEISO 11926
6 Options on port P - P1
A 'é%%%%;&“ not processed B P open - P1 plugged C Popen-P1open D P plugged - P1 open
7 Thread port MP
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4"GASISO 1179 K M14x1.51SO 6149
8 Thread port MT
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4"GASISO 1179 K M14x1.51SO 6149
9 Options on ports MP - MT
N None B MP plugged, MT open D MP and MT plugged
A MP and MT open C MP open, MT plugged E MP open, MT not processed
10 11 Maximum pressure relief valve type
00 VMP replacement plug 15 150 bar 21 210 bar 27 270 bar
10 100 bar 16 160 bar 22 220 bar 28 280 bar
11 110 bar 17 170 bar 23 230 bar 29 290 bar
12 120 bar 18 180 bar 24 240 bar 30 300 bar
13 130 bar 19 190 bar 25 250 bar
14 140 bar 20 200 bar 26 260 bar
12 Sealing type maximum pressure relief valve
|:| G Grub screw C Cap P Sealed N None
22 398SDCO05ENOQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Instructions for ordering DNC160

Repeat for each section of the valve
16 17 18 19 20 21 22 23 24 25 26 27 28

29 30 31 32 33 34 35
13 Thread ports A - B
F 3/4" GASISO 1179 5 M27x21S0 9974 U M27x21SO 6149 V 1"1/16-12 SAEISO 11926
14 Actuators
L Standard kit for lever holder T Cable setting P Pneumatic control
A \é\gg\é)#éi!(ever holder, standard M Joystick K Hydraulic control
15 Electro-hydraulic control options
] N None A gﬁg% stroke limiting port A
16 17 Spool types
01 Spool type 03 Spool type 07 Spool type
18 Spool options
A Standard spool B Nickel-plated spool
19 20 Spool control
NN None oc Bleutral position in 0, detent in NS léleutral position in 0, detent in
OA Neutral position in 0 OD DetentinO0, 1,2
0B l1\leutral position in 0, detent in OH Detent in 2 'gcé gt?(l)enct, see the relevant
21 22 Valve type port A
NN None L I
23 24 Setting LC valve on port A
00 None 15 LC 150 bar 21 LC 210 bar 27 LC 270 bar
10 LC 100 bar 16 LC 160 bar 22 LC 220 bar 28 LC 280 bar
11 LC 110 bar 17 LC 170 bar 23 LC 230 bar 29 LC 290 bar
12 LC 120 bar 18 LC 180 bar 24 LC 240 bar 30 LC 300 bar
13 LC 130 bar 19 LC 190 bar 25 LC 250 bar
14 LC 140 bar 20 LC 200 bar 26 LC 260 bar
25 26 Valve type port B
P limit
NN None Lc [T
27 28 Setting LC valve on port B
00 None 15 LC 150 bar 21 LC 210 bar 27 LC 270 bar
10 LC 100 bar 16 LC 160 bar 22 LC 220 bar 28 LC 280 bar
11 LC 110 bar 17 LC 170 bar 23 LC 230 bar 29 LC 290 bar
12 LC 120 bar 18 LC 180 bar 24 LC 240 bar 30 LC 300 bar
13 LC 130 bar 19 LC 190 bar 25 LC 250 bar
14 LC 140 bar 20 LC 200 bar 26 LC 260 bar
BONDIOLI I_.] 398SDCO05ENOQO - 27-08-2019 23
& PAVESI



Instructions for ordering

36
29 Lever options
N None C h184mm/7.24in L Straight vertical Y Bent 15° horizontal
S Without lever D h214mm/8.42in O Bent 15° vertical Q Bent 30° horizontal
A h109mm/4.3in E h254mm/10in R Bent 30° vertical
B h134mm/5.28in F h304mm/11.97in M Straight horizontal
30 Lever holder position
A Straight C Rotated 180° N None
31 Thread port Y
N None 3 M14x1.51S0O 9974 P 9/16" - 18 SAEISO 11926
L 1/4" GASISO 1179 K M14x1.51S0 6149
32 Options on port Y
N None A Open B Plugged
33 Thread port T
F 3/4" GASISO 1179 5 M27x2 IS0 9974 U M27x21S0O 6149 V 171/16 - 12 SAE ISO 11926
G 1"GASISO1179 6 M33x21S0O 9974 Z M33x2I1S0 6149 S 175/16-12 SAEISO 11926
34 Thread port T1
0 Not processed 5 M27x21S0O 9974 Z M33x2 IS0 6149
F 3/4" GASISO 1179 6 M33x21S0 9974 V 171/16- 12 SAEISO 11926
G 1”GASISO1179 U M27x21S0 6149 S 175/16-12 SAEISO 11926
35 Options on port T - T1
A '(Ds%%%g,fd-)ﬁ not processed B Topen-T1 plugged C Topen-T1open D Tplugged - T1 open
36 Discharge options
A Carry-over option (standard) B With carry-over port T
24 398SDCO05ENOQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



